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==1E=] || ] =T | oo =] ElERE %@
1 £5% 024893
s | mE | ww | e | s | w= | Resm | asms | mxne
1 24998 1 2 21 168 & ] 7
2 25734 5 1 a0 175 75 q 7] |
3 SIN550 4 2 12 167 £ q 7
7 G374 4 1 18 175 ) 4 2
5 27795 1 1 n 172 8 ] 7
& w3141 1 2 18 172 57 a 2
7 528210 1 1 0 185 3] ] 2
B IR 3 1 21 182 o5 3 7
9 AL BE 1 2 0 166 47 4 2
10 L R ] d 2 0 187 7 3 2
11 1111 3 7 12 159 &7 2 7
12 2137 1 1 18 169 7 3 2
13 Sl E 3 yl 1 152 o ] 2
14 g21393 2 1 21 169 71 3 2
13 [SSETT) Fl 1 0 188 78 3 2
16 521589 5 1 19 185 106 3 2
17 w1714 4 1 3 178 56 z 7
T 13 SIRIIT a yl 0 150 &3 7 7
19 [y =eT ] 3 7 0 177 5] 1 7
20 GI2436 q Z 0 171 T 2 2
21 26231 2 1 3 182 75 q 2
2 Sa9117 1 2 21 175 75 ar 2
73 4582 2 1 19 176 &3 gl 2
14 [ Pk ] 1 1 1 101 ] “1 A x
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=[S | B 2| e | BE(FE %@
1. &5¢ 024808
EisE BE | o mw | #s | s | wmm | Ress | asps |
1 TOA50 1 2 2 168 ] 1 2
7l 005224 [ 1 0 175 7 1 ]
3 920550 4 2 1 167 6l 4 2
1 03T 1 1 18 175 0 1 2
3 0T 1 1 0 172 # 4 ]
1] 23141 1 2 13 172 57 2 2
7 928210 1 1 0 185 8l 4 2
7 7877 [ 1 2 183 e 3 2
3 06486 1 2 0 166 a7 4 2
10 e 4 2 20 187 75 3 2
1 1111 3 2 19 159 67 2 2
12 137 1 1 18 163 87 3 2
E 00016 3 2 21 182 w 4 2
14 o21303 2 1 21 159 71 5] 2
Iz 908492 4 I 0 188 78 3 2
16 01589 [ 1 19 185 106 3 2
i w1714 4 1 18 178 5% 5 2
I8 908237 4 ) 0 190 E ] ]
i WFIRD 3 ] 0 177 &2 1 ]
20 036 1 2 0 171 7 2 2
a1 906231 2 1 1 182 75 1 2
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Multiple Comparisons

Dependent V ariable : #7228 & J7 JHI E&

S cheffe
M ean
Difference 95% Confidence Interv al
1) £ 2 ) £ 2 (I-3) Std. Error Sig. Low er Bound U pper Bound
BT & EHEH Z 2.87 4.71 .985 -11.76 17.51
T Z 8.55 4.64 .494 -5.84 22.95
ST ZA 18.56%* 4.80 .006 3.65 33.47
AR F 21.58%* 4.78 .001 6.74 36.42
E=EH A BT -2.87 4.71 .985 -17.51 11.76
B & 5.68 4.29 .780 -7.64 19.00
E4aB N 15.69% 4.47 .017 1.81 29.56
TAAEE F 18.71%* 4.44 .002 4.91 32.51
5 2 BT & -8.55 4.64 .494 -22.95 5.84
N -5.68 4.29 .780 -19.00 7.64
SRS Zn 10.01 4.39 271 -3.62 23.63
JEARE F 13.03 4.36 .066 -.51 26.57
SRS Z BT & -18.56%* 4.80 .006 -33.47 -3.65
= -15.69%* 4.47 .017 -29.56 -1.81
BB & -10.01 4.39 271 -23.63 3.62
TAAEE F 3.02 4.54 .979 -11.07 17.11
SEER A BT A -21.58% 4.78 .001 -36.42 -6.74
EHEH & -18.71% 4.44 .002 -32.51 -“4.91
= Z -13.03 4.36 .066 -26.57 .51
EAN -3.02 4.54 .979 -17.11 11.07
*. The mean difference is significant at the .05 level.
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HF|+ A - TBF v
BIAE A(K) )

E (3 AL %) .
b e § nd
fa (k%) — . | R
1 10.5 9.5 11.2 31.2
2 10 8.5 11 29.5
3 10.2 9.3 10.7 30.2
4 0.8 0.1 11.3 30.2

5 9.5 9 10.5 29
6 10.3 8.7 11.5 30.5
7 9.7 8.9 10.8 29.4
8 10 9.1 10.7 29.8
9 9.5 8.5 11.3 29.3
10 10.5 9.4 11 30.9
e 100 90 110 300
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CHA RS B2 TIOTERFFHE&H H7 22

B -
B HA R 12 TR ERFFPE&H HP 2
ST HER > ZIEUTHE
R1(8%)TERFRF2L T8 :
Xy = sle_ 10.4'X, = % —0.83X; = %‘2 ~10.07>
X4 = 302 _ 10.07°Xs5 = % —0.67'Xs = %‘5 ~10.17>
X7 _24 0.8'Xg = % —0.93x, = % —0.77 X0, = % ~10.3
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X1 = 100 _ 10X, = 0 — QX3 = 110 _ 11
10 10 10
% T 35
- L 300
X=——=10
30
d pt ¥ 7

SST = ZZ(XU -10)*=23.32 > SSBW = 1oZ(x -10)* = 20

=1 j—l j=1
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Source of Squares df Mean Square F Sig.
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